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e L
= 1 55, 784, 397
REI T SHbE 25 FE
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= 1 1, 624, 405
KR TERL TVpsaTh ¢ 60X 13
& 1 1,435 1,435
KR TERL TVp/aTh ¢ 60X 16
& 1 1,672 1,672
FETERA UVpaTh ¢ 60X 18
& 1 1,782 1,782
FETERA TVp AT ¢ 60X 21
& 1 2, 148 2,148
FETERA 47" V2T h 480X 1 X680
e 2 3, 080 6, 160
TR I RUE L
= 1 1,948, 428
REI T SHbE 25
t 3.7 480, 063 1,776,233
by ME (A RE )
= 1 159, 860
FETERA FLy7 nk byath 40X 3X 565
K 6 1,215 7,290
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= 1 31, 699, 560
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& 2 3, 729, 360 7,458, 720
&8 3K Pl fx KX 71 1977kN
& 2 1,691, 009 3,382, 018
B 3K P2 f K7 3110kN
& 2 7,577, 548 15, 155, 096
4B 3K A2 e RIKTT 831kN
& 2 2,851, 863 5,703, 726
Tk T
= 1 8, 259, 760
AITALER JEART ™ TAND P
m2 780 74.95 58, 461
AITALER WY ) ) 9T G4
m2 85 310.7 26, 409
AITALER MRy V) 97" 42— (LG T TAL)
m2 280 2,419 677, 320
AITALER MRy V) 97" 4 (B ) T H AP
)
m2 1, 140 1,037 1,182, 180
i MRS V1) 9FA" £/ (600g/m2) B4
[EIEx Q|
m2 340 1, 544 524, 960
[z MRS V1) 9FA" £/ (300g/m2) Y%
[EIEx Q|
m2 85 987 83, 895
R Uha=h (7 ¥V IR SR THR) B
e 10m]
m2 56 725.7 40, 639
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m2 56 740. 41, 445
iR SoFAMIBEE LB KE B
EEE |
m2 56 1,235 69, 160
Ao HDZT77
t 2.8 80, 418 225, 170
Ao HDZT49
t 1.1 70, 565 77, 621
1AL L TE S OV AR AVER (R4 S
)
m2 620 3, 439 2,132, 180
EPR -
= 1 11, 316, 788
T T
= 1 109, 008, 933
THE s
= 1 15, 676, 256
(CE35 R IRUI)
= 1 124, 685, 189
St L35
= 1 63, 946, 219
T S g 1
= 1 1, 600, 689
ik T
= 1 1, 600, 689
-3- E 7 TS R




N 2

it

£

THEX Sy« TH - FERI - HH50 H T B B G AT & # T (GEEM)
t 124. 2 12, 888 1, 600, 689
SfmALER T
= 1 14, 551, 542
HIAE T
= 1 893, 743
i
= 1 893, 743
BEER T (JV-VBRE%
= 1 11, 052, 046
N2
= 1 998, 280
NV -2
= 1 174, 695
HiZRa%
= 1 7,873,812
HiZRa%
(&)
= 1 2, 005, 259
KT
= 1 1, 467, 608
& B SOKRR E Al.P1.P2,A2
& 8 183, 451 1, 467, 608
Bl 1T
= 1 1,138, 145
EN Gty WA
VN 7,434 153. 1 1,138,145
R B i 4E T
= 1 1,182, 698
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Bk T
= 1 1,182, 698
Bl i $ih o T H e
m2 86 4, 264 366, 704
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AR 10E]
m2 86 970 83, 420
R BRI R ¥vAE Sk 2B Y /
JE) BEEEH 1E
m2 86 4,535 390, 010
R So FMIREENR WE BRI
1[8]
m2 4 1,130 4,520
iR So FMIREEL K BRI 1
=]
m2 4 1,729 6,916
1AL L TE S OV AR AVER (R4 S
)
m2 56 5,913 331, 128
PRI
= 1 11, 774, 852
PRI
= 1 11, 774, 852
Tl — TG (SAAG IR hR)
= 1 3, 234, 400
I P S U 7 UL R R
= 1 947, 550
A SD345 D13
t 2.09 141, 587 295,916
ERAR SD345 D16~25
t 30. 45 139, 668 4, 252, 890
VAR 24-12-25(20) (@)
m3 92 33, 088 3, 044, 096
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R B 1L
= 1 27, 327, 252
e S E T
= 1 2, 636, 655
- 27 bR 2 {5 -8 Omm A% HE N7 ] 154mm
m 10.1 261, 055 2, 636, 655
VERGES IR 2 & T
= 1 1,161, 403
VERGES 12 E Al F40TD L=3.81lm
T 1 511, 233 511, 233
VERGES 12 E A2 F60TD L=4.576m
T 1 650, 170 650, 170
HekZEE T
= 1 4, 884, 709
HEAK IS
= 1 4, 884, 709
B A L
= 1 4, 814, 949
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m3 41 31, 809 1, 304, 169
Tl — AT
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PR E H (Vi b B =44 30mm X 15mm
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5 2 I 5 At L
= 1 13,013, 182
P& N EER) AT M 1. 2m 7/h-K VIEREA
m 127 102, 466 13,013, 182
5 2 v A L
= 1 816, 354
15 92 v A ST AR A A (RS20
m 31 26, 334 816, 354
G SRR E L
= 1 2,799, 642
R T
= 1 1,712,980
IR LY 7 y=bT TR AT =y
= 1 1,712,980
Wb 1
= 1 258, 800
G E
= 1 258, 800
H W AR T
= 1 827, 862
X0 HAG
= 1 827, 862
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B A L
= 1 467, 369
eV 24-12-25(20) (% JF)
m3 4 31, 809 127, 236
Tl — AT
= 1 270, 106
A5 SD345 D13
t 0.27 149, 814 40, 449
ERAR SD345 D16~25
t 0.2 147, 894 29, 578
TR L
= 1 1,061, 101
N T
= 1 1,061, 101
A WREER, ¢ 76.3X 4. 2t XH3. 4m
#% 3 228, 606 685, 818
A WREER, ¢ 76.3X 4. 2t X H4. 25m
H 1 250, 909 250, 909
RRARAR SRR (450 X 450) X 1 ABH K
(400X 150) X 1
H 3 25,776 77, 328
RRARAR SR (450 X 450) X 2, ABH K
(400X 150) X2
H 1 47, 046 47, 046
% T
= 1 3,181, 074
VESEY-1 i T
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= 1 50, 200
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B T
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BTl TE:
= 1 19, 775, 193
B ST ¢
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IR T
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B i % FEART ARG
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BUGERRYCER (K5 1)
= 1 677, 317
MR R (L)
= 1 12,501, 584
Wi
= 1 83, 721, 412
BTk X=giiv oy
= 1 35, 858, 532
(€:rk2Yai)
= 1 119, 579, 944
R 5]
= 1 244, 265, 133
— e
= 1 36, 734, 867
T HAlik
= 1 281, 000, 000
THE B 2 %8
= 1 28, 100, 000
TG
= 1 309, 100, 000

- 10 - E Lozl s A R




